

















MOCK TEST-5

1 (d) 9 (¢) 17 (c) 25 (d) 33 (a)
g (a) 10 (d) 18 (c) 26 (a) 34 )

3 (c) 11 (c) 19 (b) 27 (e) 35 d) |

4 (d) 12 (b) 20 (c) 28 (b) 36 (b)

5 (d) 13 (d) 21 (a) 29 (d) 37 (b) |

6 (d) 14 (c) 22 (a) 30 (a) 38 (c)

7 (a) 15 (b) 23 (c) 31 (d) 39 (d)

8 (a) 16 (b) 24 (c) 32 (d) 40 (a)

16. (b) In the given architecture,
Server device has been labeled.

19. (b) A solid-state drive (SSD)-is'a
non-volatile storage device
that stores persistent.data on
solid-state flash mémory.

22. (a) The given icon can be accessed
by going to, Page layout tab —
Page Setupgroup — size

25. (d) The givenicon used for drawing

26. (a) MOD operation will give the
remainder. So, 4/2 = 0, so it will
print THEN statement, i.e.

_ Even Number. '
28. (b) An Internet Protocol address

(IP address)'is a numerical
label assigned to each device
(e.g.; ~computer, printer)
participating in a computer
network that uses the Internet
Protocol for communication.

29.(d) CAPTCHA  stands for
“Completely Automated Public
Turing test to tell Computers and
Humans Apart”. It is a type of
challenge-response test used in
computing to determine whether
the user is human or not.

36. (b) PARAM is a supercomputers
designed and assembled by the
Centre for Development of
Advanced Computing (C-DAC)
in Pune, India.

38. (c) In computing, floating point
operations per second (FLOPS)
1S a measure of computer
performance, useful in fields of
scientific computations that
require floating-point
calculations.

39. (d) The speed that a CPU works at
is measured in hertz (H2):
Modern processors often run 50
fast that gigahertz (GHz)is used
instead. One gigahertz means
one billion cycles per second. |
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